Int. J. Nonlinear Anal. Appl. 15 (2024) 7, 1–9 ISSN: 2008-6822 (electronic) http://dx.doi.org/10.22075/ijnaa.2023.27169.3521



Growth of the s^{th} derivative of a polynomial with restricted zeros

Reingachan Ngamchui, Khangembam Babina Devi*, Barchand Chanam

Department of Mathematics, National Institute of Technology Manipur, Manipur-795004, India

(Communicated by Choonkil Park)

Abstract

In this paper, we establish some upper bound estimates for the maximum modulus of the higher order derivative of a polynomial with restricted zeros on a circle of |z| = R, $R \ge 1$, in terms of the maximum modulus of the same polynomial on the unit circle |z| = 1. These results generalize and sharpen some known results in this direction.

Keywords: Polynomials, Zeros, Inequalities, Maximum modulus 2020 MSC: Primary 30C15; Secondary 30A10

1 Introduction

The study of extremal problems of functions and the results where some approaches to obtaining polynomial inequalities for various norms and various constraints on using different methods of the geometric function theory is a classical topic in analysis. Let p(z) be a polynomial of degree n and for R > 0, set $M(p, R) = \max_{|z|=R} |p(z)|$. We also denote M(p, 1) by ||p||, the uniform norm of a polynomial p on the unit circle |z| = 1. The study of inequalities that relate the norm of a polynomial on a larger circle to that of its norm on the unit circle and their various versions play a key role in the literature having its own intrinsic interest. Over a period, these inequalities have been generalized in different domains and in different norms. These inequalities for polynomials have been the subject of many research papers which is witnessed by many recent articles (for example, see [11], [10]). It is a simple deduction from the Maximum Modulus Principle (see [12], p. 158) that for $R \ge 1$,

$$M(p,R) \le R^n \|p\|. \tag{1.1}$$

Equality holds in (1.1) for $p(z) = \lambda z^n$, $\lambda \neq 0$ being a complex number. It is worth to note that these extremal polynomials have all zeros at the origin. It is natural to seek improvements under appropriate conditions on the zeros of p(z). It is shown by Ankeny and Rivlin [1] that if p(z) is a polynomial of degree n having no zero in |z| < 1, then for $R \geq 1$,

$$M(p,R) \le \left(\frac{R^n + 1}{2}\right) \|p\|.$$

$$(1.2)$$

*Corresponding author

Email addresses: reinga14@gmail.com (Reingachan Ngamchui), khangembambabina@gmail.com (Khangembam Babina Devi), barchand_2004@yahoo.co.in (Barchand Chanam)

Inequality (1.2) becomes equality for $p(z) = \lambda + \mu z^n$, where $|\lambda| = |\mu|$. Govil [7] observed that since equality in (1.2) holds only for polynomials $p(z) = \lambda + \mu z^n$, $|\lambda| = |\mu|$, which satisfy

$$|\text{coefficient } of \ z^n| = \frac{1}{2} ||p||, \tag{1.3}$$

it should be possible to improve upon the bound in (1.2) for polynomials not satisfying (1.3). In an attempt to solve this problem, Govil [7] obtained that if $p(z) = \sum_{v=0}^{n} a_v z^v$ is a polynomial of degree *n* having no zero in |z| < 1, then for $R \ge 1$,

$$M(p,R) \leq \frac{(R^{n}+1)}{2} \|p\| - \frac{n}{2} \left(\frac{\|p\|^{2} - 4|a_{n}|^{2}}{\|p\|} \right) \times \left[\frac{(R-1)\|p\|}{\|p\| + 2|a_{n}|} - \ln\left\{ 1 + \frac{(R-1)\|p\|}{\|p\| + 2|a_{n}|} \right\} \right].$$

Further, as a generalization and improvement of inequality (1.4), Govil and Nyuydinkong [9] proved that if $p(z) = \sum_{v=0}^{n} a_v z^v$ is a polynomial of degree *n* having no zero in $|z| < k, k \ge 1$, then for $R \ge 1$,

$$M(p,R) \leq \left(\frac{R^{n}+k}{1+k}\right) \|p\| - \left(\frac{R^{n}-1}{1+k}\right) m - \frac{n}{1+k} \left\{\frac{(\|p\|-m)^{2} - (1+k)^{2}|a_{n}|^{2}}{\|p\|-m}\right\} \\ \times \left[\frac{(R-1)(\|p\|-m)}{\|p\|-m+(1+k)|a_{n}|} - \ln\left\{1 + \frac{(R-1)(\|p\|-m)}{\|p\|-m+(1+k)|a_{n}|}\right\}\right],$$
(1.4)

where here and throughout the paper $m = \min_{|z|=k} |p(z)|$.

2 Preliminaries

2.1 Main results

In this paper, we prove a result for s^{th} derivative of the polynomial p(z) which as a special case gives inequality (1.4). More precisely, we prove the following.

Theorem 2.1. If $p(z) = \sum_{v=0}^{n} a_v z^v$ is a polynomial of degree *n* having no zero in $|z| < k, k \ge 1$, then for $0 \le s < n$ and $R \ge 1$ and any positive integer $N \le n$,

$$M(p^{(s)}, R) \leq \|p^{(s)}\| + \frac{n(n-1)(n-2)\dots(n-s)(R^{n-s}-1)}{(1+k^{s+1})(n-s)} (\|p\|-m) - \left\{\frac{n(n-1)(n-2)\dots(n-s)}{(1+k^{s+1})R^s}\right\} (\|p\|-m) \left\{1 - \frac{|a_n|(1+k^{s+1})}{\|p\|-m}\right\} I(N),$$

$$(2.1)$$

where

$$I(N) = \left(R-1\right) - \left\{1 + \frac{(1+k^{s+1})|a_n|}{\|p\|-m}\right\} \times \ln\left\{1 + \frac{(R-1)(\|p\|-m)}{(\|p\|-m) + (1+k^{s+1})|a_n|}\right\} \text{ for } N = 1,$$
(2.2)

$$I(N) = \left(\frac{R^{N}-1}{N}\right) + \sum_{v=1}^{N-1} \left(\frac{R^{N-v}-1}{N-v}\right) (-1)^{v} \left\{1 + \frac{(1+k^{s+1})|a_{n}|}{\|p\|-m}\right\} \left\{\frac{(1+k^{s+1})|a_{n}|}{\|p\|-m}\right\}^{v-1} + (-1)^{N} \left\{1 + \frac{(1+k^{s+1})|a_{n}|}{\|p\|-m}\right\} \left\{\frac{(1+k^{s+1})|a_{n}|}{\|p\|-m}\right\}^{N-1} \times \ln\left\{1 + \frac{(R-1)(\|p\|-m)}{(\|p\|-m) + (1+k^{s+1})|a_{n}|}\right\} \text{ for } N \ge 2.$$

$$(2.3)$$

Remark 2.2. If s = 0, Theorem 2.1 reduces to the following result which is a generalization of a result of Mir et al. [11].

Corollary 2.3. If $p(z) = \sum_{v=0}^{n} a_v z^v$ is a polynomial of degree *n* having no zero in $|z| < k, k \ge 1$, then for $R \ge 1$ and any positive integer $N \le n$,

$$M(p,R) \leq \left\{\frac{R^{n}+k}{1+k}\right\} \|p\| - \frac{(R^{n}-1)}{1+k}m - \left\{\frac{n(\|p\|-m)}{1+k}\right\} \left\{1 - \frac{|a_{n}|(1+k)}{\|p\|-m}\right\} H(N),$$
(2.4)

where

$$H(N) = \left(R-1\right) - \left\{1 + \frac{(1+k)|a_n|}{\|p\| - m}\right\} \times \ln\left\{1 + \frac{(R-1)(\|p\| - m)}{(\|p\| - m) + (1+k)|a_n|}\right\} \text{ for } N = 1,$$
(2.5)

$$H(N) = \left(\frac{R^N - 1}{N}\right) + \sum_{v=1}^{N-1} \left(\frac{R^{N-v} - 1}{N-v}\right) (-1)^v \left\{1 + \frac{(1+k)|a_n|}{\|p\| - m}\right\} \left\{\frac{(1+k)|a_n|}{\|p\| - m}\right\}^{v-1} + (-1)^N \left\{1 + \frac{(1+k)|a_n|}{\|p\| - m}\right\} \left\{\frac{(1+k)|a_n|}{\|p\| - m}\right\}^{N-1} \times \ln\left\{1 + \frac{(R-1)(\|p\| - m)}{(\|p\| - m) + (1+k)|a_n|}\right\} \text{ for } N \ge 2.$$
(2.6)

Remark 2.4. If N = n, Corollaray 2.3 reduces to the result of Mir et al. [11, Theorem 2].

Remark 2.5. From Lemma 2.15, we have H(N) is a non-negative increasing function of N for $1 \le N$ and hence $H(1) \le H(N)$, $1 \le N$. Using this and Lemma 2.18, Corollary 2.3 reduces to inequality (1.4) of Govil and Nyuydinkong [9].

Remark 2.6. For k = 1, Corollary 2.3 becomes the following result which is a generalization and improvement of the theorem due to Dewan and Bhat [5]. Further, it sharpens a result due to Dalal and Govil [3, Theorem 2.1]

Corollary 2.7. If $p(z) = \sum_{v=0}^{n} a_v z^v$ is a polynomial of degree *n* having no zero in $|z| < k, k \ge 1$, then for $R \ge 1$ and any positive integer $N \le n$,

$$M(p,R) \le \left(\frac{R^n + 1}{2}\right) \|p\| - \left(\frac{R^n - 1}{2}\right) m - n\left(\frac{\|p\| - m}{2} - |a_n|\right) f(N),$$
(2.7)

where

$$f(N) = \left(\frac{R^{N}-1}{N}\right) + \sum_{\nu=1}^{N-1} \left(\frac{R^{N-\nu}-1}{N-\nu}\right) (-1)^{\nu} \left\{1 + \frac{2|a_{n}|}{\|p\|-m}\right\} \left\{\frac{2|a_{n}|}{\|p\|-m}\right\}^{\nu-1} + (-1)^{N} \left\{1 + \frac{2|a_{n}|}{\|p\|-m}\right\} \left\{\frac{2|a_{n}|}{\|p\|-m}\right\}^{N-1} \times \ln\left\{1 + \frac{(R-1)(\|p\|-m)}{(\|p\|-m)+2|a_{n}|}\right\}.$$

$$(2.8)$$

Further, we also prove the following result involving certain co-efficients of p(z). In fact, we prove

Theorem 2.8. If $p(z) = \sum_{v=0}^{n} a_v z^v$ is a polynomial of degree *n* having no zero in $|z| < k, k \ge 1$, then for $0 \le s < n$ and $R \ge 1$ and any positive integer $N \le n$,

$$M(p^{(s)}, R) \leq \|p^{(s)}\| + \left[\frac{n(n-1)(n-2)...(n-s)(R^{n-s}-1)}{(n-s)(1+\gamma_{k,s})}\right] \|p\| - \left\{\frac{n(n-1)(n-2)...(n-s)}{(1+\gamma_{k,s})R^s}\right\} \|p\| \left\{1 - \frac{|a_n|(1+\gamma_{k,s})}{\|p\|}\right\} J(N),$$

$$(2.9)$$

where

$$J(N) = \left(R-1\right) - \left\{1 + \frac{(1+\gamma_{k,s})|a_n|}{\|p\|}\right\} \times \ln\left\{1 + \frac{(R-1)\|p\|}{\|p\| + (1+\gamma_{k,s})|a_n|}\right\} \text{ for } N = 1,$$
(2.10)

$$J(N) = \left(\frac{R^N - 1}{N}\right) + \sum_{v=1}^{N-1} \left(\frac{R^{N-v} - 1}{N-v}\right) (-1)^v \left\{1 + \frac{(1+\gamma_{k,s})|a_n|}{\|p\|}\right\} \left\{\frac{(1+\gamma_{k,s})|a_n|}{\|p\|}\right\}^{v-1} + (-1)^N \left\{1 + \frac{(1+\gamma_{k,s})|a_n|}{\|p\|}\right\} \left\{\frac{(1+\gamma_{k,s})|a_n|}{\|p\|}\right\}^{N-1} \times \ln\left\{1 + \frac{(R-1)\|p\|}{\|p\| + (1+\gamma_{k,s})|a_n|}\right\} \quad \text{for } N \ge 2, \quad (2.11)$$

and

$$\gamma_{k,s} = \frac{c(n,s+1)|a_0|k^{s+2} + |a_{s+1}|k^{2(s+1)}}{c(n,s+1)|a_0| + |a_{s+1}|k^{s+2}}.$$
(2.12)

and here and throughout the paper $c(n,s) = \frac{n!}{s!(n-s)!}$.

Remark 2.9. For k = 1 and s = 0, Theorem 2.8 reduces to a result of Dalal and Govil [3, Theorem 2.1].

Remark 2.10. If k = 1, s = 0 and N = 1, Theorem 2.8 reduces to inequality (1.4) of Govil [7].

Remark 2.11. It can be easily verified that Theorem 2.8 is a refinement and generalization of inequality (1.2) due to Ankeny and Rivlin [1].

2.2 Lemmas

We need the following lemmas to prove our results.

Lemma 2.12. If $p(z) = a_0 + \sum_{v=\mu}^n a_v z^v$, $1 \le \mu \le n$, is a polynomial of degree n, then for |z| = R, $R \ge 1$, $|p(z)| \le R^n \left\{ 1 - \frac{(\parallel p \parallel - |a_n|)(R-1)}{|a_n| + R \parallel p \parallel} \right\} \parallel p \parallel .$

Lemmas 2.12 is due to Gardner et al. [6].

Lemma 2.13. If $p(z) = \sum_{v=0}^{n} a_v z^v$ is a polynomial of degree n and $r \ge 1$, then the function

$$\left[1 - \frac{\{y - n(n-1)....(n-s)|a_n|\}(r-1)}{ry + n(n-1)....(n-s)|a_n|}\right]y$$

is an increasing function of y for y > 0.

Proof . The proof simply follows by using the derivative and we omit it. \Box

Lemma 2.14. Let

$$h(N) = \int_{1}^{R} \frac{(r-1)r^{N-1}}{r+x} dr, \quad x > 0.$$

Then for $N \geq 2$,

$$h(N) = \left(\frac{R^{N}-1}{N}\right) + \sum_{v=1}^{N-1} \left(\frac{R^{N-v}-1}{N-v}\right) (-1)^{v} (x+1) x^{v-1} + (-1)^{N} (x+1) x^{N-1} \ln\left(\frac{R+x}{1+x}\right),$$
(2.13)

and for N = 1,

$$h(1) = (R-1) - (1+x)\ln\left(1 + \frac{R-1}{1+x}\right).$$
(2.14)

Lemma 2.14 is due to Dalal and Govil [3, Lemma 3.6].

Lemma 2.15. The function h(N) defined in Lemma 2.14 is a non-negative increasing function of N for $N \ge 1$.

Proof. The proof of this lemma was done by Dalal and Govil [3, Lemma 3.7] by using recurrence relation. Moreover, a simple alternative proof was also given recently by Devi et al. [4, Lemma 3] by applying the method of differentiation under integral sign and for the sake of reader's interest, a brief proof is given: Using the method of differentiation under the integral sign, we have

$$\frac{d}{dN}h(N) = \int_{1}^{R} \frac{(r-1)(r^{N-1})}{r+x} \ln r dr.$$
(2.15)

Since, for $r \in [1, R]$, $\frac{(r-1)r^{N-1}}{r+x} \ln r \ge 0$, we have

$$\int_1^R \frac{(r-1)r^{N-1}}{r+x} \ln r dr \ge 0.$$

From equality (2.15),

$$\frac{d}{dN}h(N) \ge 0, \text{ for } N \ge 1.$$

Therefore, h(N) is an increasing function of N for $N \ge 1$. Further, since $\frac{(r-1)r^{N-1}}{r+x} \ge 0$, for $N \ge 1$, $h(N) \ge 0$ for $N \geq 1$. This completes the proof of Lemma 2.15. \Box

Lemma 2.16. If $p(z) = \sum_{n=1}^{n} a_v z^v$ is a polynomial of degree *n* having no zero in $|z| < k, k \ge 1$, then for $1 \le s \le n$,

$$\|p^{(s)}\| \le \frac{n(n-1)\dots(n-s+1)}{1+k^s} \{\|p\|-m\}.$$
(2.16)

Lemma 2.16 is due to Govil [8]. Next lemma is due to Aziz and Rather [2].

Lemma 2.17. If $p(z) = \sum_{v=0}^{n} a_v z^v$ is a polynomial having no zero in $|z| < k, k \ge 1$, then for $1 \le s \le n$,

$$\|p^{(s)}\| \le \frac{n(n-1)\dots(n-s+1)}{1+\delta_{k,s}} \|p\|,$$
(2.17)

where

$$\delta_{k,s} = \frac{c(n,s)|a_0|k^{s+1} + |a_s|k^{2s}}{c(n,s)|a_0| + |a_s|k^{s+1}}.$$

Lemma 2.18. If $p(z) = \sum_{v=0}^{n} a_v z^v$ is a polynomial of degree *n* having no zero in $|z| < k, k \ge 1$, then for $0 \le s < n$,

$$|a_n| \le \frac{1}{1+k^{s+1}} \left(\|p\| - m \right).$$
(2.18)

Proof. Since $p(z) = \sum_{v=0}^{n} a_v z^v$, $p^{(s+1)}(z) = \sum_{v=s+1}^{n} v(v-1)...(v-s)a_v z^{v-(s+1)}$, by applying Cauchy's inequality to

 $p^{(s+1)}(z)$ on the unit circle |z| = 1, we have

$$\left| \frac{d^{\{n-(s+1)\}}}{dz^{\{n-(s+1)\}}} p^{(s+1)}(z) \right|_{z=0} \le \{n-(s+1)\}! \max_{|z|=1} |p^{(s+1)}(z)|.$$
(2.19)

By Lemma 2.16, we have

$$\max_{|z|=1} |p^{(s+1)}(z)| \le \frac{n(n-1)\dots(n-s)}{1+k^{s+1}} \left\{ \max_{|z|=1} |p(z)| - m \right\}.$$
(2.20)

Using inequality (2.20) in the right hand side of (2.19), we have inequality (2.18) and this completes the proof of Lemma $2.18.\square$

Lemma 2.19. If $p(z) = \sum_{v=0}^{n} a_v z^v$ is a polynomial of degree *n* having no zero in $|z| < k, k \ge 1$, then for $0 \le s < n$,

$$|a_n| \le \frac{1}{1 + \gamma_{k,s}} ||p||, \tag{2.21}$$

where $\gamma_{k,s}$ is as defined in (2.12).

Proof. The proof of this lemma follows on the same lines as that of Lemma 2.18, but instead of applying inequality (2.16) of Lemma 2.16, we use inequality (2.17) of Lemma 2.17 to the polynomial p(z) and we omit the details.

2.3 Proofs of the theorems

We first prove Theorem 2.1.

Proof .[Proof of Theorem 2.1] For each θ , $0 \le \theta < 2\pi$ and $1 \le r \le R$, we have for $0 \le s < n$,

$$p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta}) = \int_{1}^{R} e^{i\theta} p^{(s+1)}(re^{i\theta}) dr,$$

which implies

$$p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| \le \int_1^R |p^{(s+1)}(re^{i\theta})| dr.$$

Now, applying Lemma 2.12 to the polynomial $p^{(s+1)}(z)$ which is of degree $\{n - (s+1)\}$, we get

$$|p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| \le \int_{1}^{R} r^{n-(s+1)} \left\{ 1 - \frac{(\|p^{(s+1)}\| - n(n-1)(n-2)\dots(n-s)|a_n|)(r-1)}{n(n-1)(n-2)\dots(n-s)|a_n| + r\|p^{(s+1)}\|} \right\} \|p^{(s+1)}\| dr.$$
(2.22)

By Lemma 2.13, the quantity $\left\{1 - \frac{(\|p^{(s+1)}\| - n(n-1)(n-2)\dots(n-s)|a_n|)(r-1)}{n(n-1)(n-2)\dots(n-s)|a_n| + r\|p^{(s+1)}\|}\right\} \|p^{(s+1)}\|$ occurring in the integrand of (2.22) is an increasing function of $\|p^{(s+1)}\|$, and using Lemma 2.16, we have for $0 \le \theta < 2\pi$,

$$\begin{split} |p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| &\leq \int_{1}^{R} r^{n-(s+1)} \left[1 - \frac{\left\{ \frac{n(n-1)(n-2)\dots(n-s)}{1+k^{s+1}} (\|p\|-m) - n(n-1)(n-2)\dots(n-s)|a_n| \right\} (r-1)}{n(n-1)(n-2)\dots(n-s)|a_n| + r(\frac{n(n-1)(n-2)\dots(n-s)}{1+k^{s+1}}) (\|p\|-m)} \right] \\ &\times \frac{n(n-1)(n-2)\dots(n-s)}{1+k^{s+1}} (\|p\|-m) dr \\ &= \frac{n(n-1)(n-2)\dots(n-s)}{1+k^{s+1}} (\|p\|-m) \int_{1}^{R} r^{n-s-1} dr - \frac{n(n-1)(n-2)\dots(n-s)}{1+k^{s+1}} (\|p\|-m) \\ &\times \int_{1}^{R} r^{n-s-1} \left\{ \frac{(\|p\|-m) - (1+k^{s+1})|a_n|}{(1+k^{s+1})|a_n| + r(\|p\|-m)} \right\} (r-1) dr \\ &= \frac{n(n-1)(n-2)\dots(n-s)(R^{n-s}-1)}{(1+k^{s+1})(n-s)} (\|p\|-m) \\ &- \frac{n(n-1)(n-2)\dots(n-s)}{1+k^{s+1}} (\|p\|-m) \|(1-a) \int_{1}^{R} \frac{(r-1)r^{n-s-1}}{r+a} dr, \end{split}$$
(2.23)

where $a = \frac{|a_n|(1+k^{s+1})}{(\|p\|-m)}$.

Note that from Lemma 2.15, the integral $\int_1^R \frac{(r-1)r^{N-s-1}}{r+a} dr$ is a non-negative and increasing function of N for $1 \le N \le n$ therefore, for $0 \le s < n$, we have

$$\int_{1}^{R} \frac{(r-1)r^{N-s-1}}{r+a} dr \le \int_{1}^{R} \frac{(r-1)r^{n-s-1}}{r+a} dr.$$
(2.24)

Noting from Lemma 2.18 that $(1-a) \ge 0$ and using inequality (2.24) to (2.23), we have for every $N, 1 \le N \le n$,

$$p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| \leq \frac{n(n-1)(n-2)...(n-s)(R^{n-s}-1)}{(1+k^{s+1})(n-s)}(||p|| - m)$$

$$(2.25)$$

$$-\frac{n(n-1)(n-2)\dots(n-s)}{1+k^{s+1}}(\|p\|-m)(1-a) \times \int_{1}^{R} \frac{(r-1)r^{N-s-1}}{r+a} dr.$$
 (2.26)

For $1 \le r \le R$, we have $1 \ge \frac{1}{r^s} \ge \frac{1}{R^s}$. Therefore for $r^{N-s-1} = \frac{r^{N-1}}{r^s} \ge \frac{r^{N-1}}{R^s}$, we have

$$-\int_{1}^{R} \frac{(r-1)r^{N-s-1}}{r+a} dr \le \frac{-1}{R^{s}} \int_{1}^{R} \frac{(r-1)r^{N-1}}{r+a} dr.$$
(2.27)

Using inequality (2.27) in (2.25), we have

$$|p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| \leq \frac{n(n-1)(n-2)...(n-s)(R^{n-s}-1)}{(1+k^{s+1})(n-s)} (||p|| - m) - \frac{n(n-1)(n-2)...(n-s)}{1+k^{s+1}} (||p|| - m) \frac{(1-a)}{R^s} \times \int_1^R \frac{(r-1)r^{N-1}}{r+a} dr.$$
(2.28)

Using Lemma 2.14 (on replacing x by a) for the value of integral in (2.28), we have for each $0 \le \theta < 2\pi$,

$$|p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| \leq \frac{n(n-1)(n-2)...(n-s)(R^{n-s}-1)}{(1+k^{s+1})(n-s)}(||p|| - m) \\ - \frac{n(n-1)(n-2)...(n-s)}{(1+k^{s+1})R^s}(||p|| - m)(1-a)I(N),$$
(2.29)

where I(N) is as defined in (2.2) and (2.3). Now, substituting the value of a and using the obvious inequality

$$\begin{aligned} |p^{(s)}(Re^{i\theta})| &\leq |p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| + |p^{(s)}(e^{i\theta})| \\ &\leq |p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| + ||p^{(s)}|| \end{aligned}$$

in (2.29), we get for $0 \le s < n$ and $R \ge 1$,

$$\begin{aligned} |p^{(s)}(Re^{i\theta})| &\leq \|p^{(s)}\| + \frac{n(n-1)(n-2)...(n-s)(R^{n-s}-1)}{(1+k^{s+1})(n-s)}(\|p\|-m) \\ &- \frac{n(n-1)(n-2)...(n-s)}{(1+k^{s+1})R^s}(\|p\|-m)\left[1 - \frac{a_n(1+k^{s+1})}{\|p\|-m}\right]I(N), \end{aligned}$$

which is equivalent to inequality (2.1) and hence the proof of Theorem 2.1 is completed. \Box **Proof** .[Proof of Theorem 2.8] For each θ , $0 \le \theta < 2\pi$ and $1 \le r \le R$, we have for $0 \le s < n$,

$$p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta}) = \int_{1}^{R} e^{i\theta} p^{(s+1)}(re^{i\theta}) dr$$

which implies

$$|p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| \le \int_1^R |p^{(s+1)}(re^{i\theta})| dr$$

Now, applying Lemma 2.12 to the polynomial $p^{(s+1)}(z)$ which is of degree $\{n - (s+1)\}$, we get

$$|p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| \le \int_{1}^{R} r^{n-(s+1)} \left\{ 1 - \frac{(\|p^{(s+1)}\| - n(n-1)(n-2)\dots(n-s)|a_{n}|)(r-1)}{n(n-1)(n-2)\dots(n-s)|a_{n}| + r\|p^{(s+1)}\|} \right\} \|p^{(s+1)}\| dr.$$
(2.30)

By Lemma 2.13, the quantity $\left\{1 - \frac{(\|p^{(s+1)}\| - n(n-1)(n-2)\dots(n-s)|a_n|)(r-1)}{n(n-1)(n-2)\dots(n-s)|a_n| + r\|p^{(s+1)}\|}\right\} \|p^{(s+1)}\|$ occuring in the integrand of

(2.30) is an increasing function of $||p^{(s+1)}||$, and using Lemma 2.17, we have for $0 \le \theta < 2\pi$,

$$\begin{split} |p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| &\leq \int_{1}^{R} r^{n-(s+1)} \left[1 - \frac{\left\{ \frac{n(n-1)(n-2)...(n-s)}{1+\gamma_{k,s}} \|p\| - n(n-1)(n-2)...(n-s)|a_n| + r(\frac{n(n-1)(n-2)...(n-s)}{1+\gamma_{k,s}}) \|p\| \right] \right] \\ &\times \frac{n(n-1)(n-2)...(n-s)}{1+\gamma_{k,s}} \|p\| dr \\ &= \frac{n(n-1)(n-2)...(n-s)}{1+\gamma_{k,s}} \|p\| \int_{1}^{R} r^{n-s-1} dr - \frac{n(n-1)(n-2)...(n-s)}{1+\gamma_{k,s}} \|p\| \\ &\times \int_{1}^{R} r^{n-s-1} \left\{ \frac{\|p\| - (1+\gamma_{k,s})|a_n|}{(1+\gamma_{k,s})|a_n| + r\|p\|} \right\} (r-1) dr \\ &= \frac{n(n-1)(n-2)...(n-s)(R^{n-s}-1)}{(1+\gamma_{k,s})(n-s)} \|p\| \\ &- \frac{n(n-1)(n-2)...(n-s)}{1+\gamma_{k,s}} \|p\| (1-b) \int_{1}^{R} \frac{(r-1)r^{n-s-1}}{r+b} dr, \end{split}$$
(2.31)

where $\gamma_{k,s}$ is as defined in (2.12) and $b = \frac{|a_n|(1+\gamma_{k,s})}{\|p\|}$. Note that from Lemma 2.15, the integral $\int_1^R \frac{(r-1)r^{N-s-1}}{r+b} dr$ is a non-negative and increasing function of N for $1 \le N \le n$ therefore, for $0 \le s < n$, we have

$$\int_{1}^{R} \frac{(r-1)r^{N-s-1}}{r+b} dr \le \int_{1}^{R} \frac{(r-1)r^{n-s-1}}{r+b} dr.$$
(2.32)

Noting from Lemma 2.19 that $(1-b) \ge 0$ and using inequality (2.32) to (2.31), we have for every $N, 1 \le N \le n$,

$$|p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| \leq \frac{n(n-1)(n-2)...(n-s)(R^{n-s}-1)}{(1+\gamma_{k,s})(n-s)} ||p|| - \frac{n(n-1)(n-2)...(n-s)}{1+\gamma_{k,s}} ||p||(1-b) \\ \times \int_{1}^{R} \frac{(r-1)r^{N-s-1}}{r+b} dr.$$
(2.33)

For $1 \le r \le R$, we have $1 \ge \frac{1}{r^s} \ge \frac{1}{R^s}$. Therefore for $r^{N-s-1} = \frac{r^{N-1}}{r^s} \ge \frac{r^{N-1}}{R^s}$, we have

$$-\int_{1}^{R} \frac{(r-1)r^{N-s-1}}{r+b} dr \le \frac{-1}{R^{s}} \int_{1}^{R} \frac{(r-1)r^{N-1}}{r+b} dr.$$
(2.34)

Using inequality (2.34) in (2.33), we have

$$|p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| \leq \frac{n(n-1)(n-2)...(n-s)(R^{n-s}-1)}{(1+\gamma_{k,s})(n-s)} ||p|| - \frac{n(n-1)(n-2)...(n-s)}{1+\gamma_{k,s}} ||p|| \frac{(1-b)}{R^s} \\ \times \int_1^R \frac{(r-1)r^{N-1}}{r+b} dr.$$
(2.35)

Using Lemma 2.14 (on replacing x by b) for the value of integral in (2.35), we have for each $0 \le \theta < 2\pi$,

$$|p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| \le \frac{n(n-1)(n-2)\dots(n-s)(R^{n-s}-1)}{(1+\gamma_{k,s})(n-s)} ||p|| - \frac{n(n-1)(n-2)\dots(n-s)}{(1+\gamma_{k,s})R^s} ||p||(1-b)J(N), \quad (2.36)$$

where J(N) is as defined in (2.10) and (2.11). Now, substituting the value of b and using the obvious inequality

$$|p^{(s)}(Re^{i\theta})| \leq |p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| + |p^{(s)}(e^{i\theta})| \\ \leq |p^{(s)}(Re^{i\theta}) - p^{(s)}(e^{i\theta})| + ||p^{(s)}||$$

in (2.36), we get for $0 \le \theta < 2\pi$ and $R \ge 1$,

$$|p^{(s)}(Re^{i\theta})| \le ||p^{(s)}|| + \frac{n(n-1)(n-2)\dots(n-s)(R^{n-s}-1)}{(1+\gamma_{k,s})(n-s)} ||p|| - \frac{n(n-1)(n-2)\dots(n-s)}{(1+\gamma_{k,s})R^s} ||p|| \left[1 - \frac{|a_n|(1+\gamma_{k,s})}{||p||}\right] J(N),$$

which is equivalent to inequality (2.9) of Theorem 2.8. \Box

References

- [1] N.C. Ankeny and T.J. Rivlin, On a theorem of S. Bernstein, Pacific J. Math., 5 (1955), 849-862.
- [2] A. Aziz and N.A. Rather, Some Zygmund type L^q inequalities for polynomials, J. Math. Anal. Appl. 289 (2004), 14–29.
- [3] A. Dalal and N.K. Govil, On sharpening of a theorem of Ankeny and Rivlin, Anal. Theory. Appl. 36 (2018), 225–234.
- [4] K.B. Devi, T.B. Singh, R. Singh and B. Chanam, Growth of polynomials not vanishing inside a circle, J. Anal. 30 (2022), 1439–1454.
- [5] K.K. Dewan and A.A. Bhat, On the maximum modulus of a polynomials not vanishing inside a unit circle, J. Interdiscip. Math. 1 (1998), 129–140.
- [6] R.B. Gardner, N.K. Govil and S.R. Musukula, Rate of growth of polynomials not vanishing inside a circle, J. Inequal. Pure Appl. Math. 6 (2005), Art. 53.
- [7] N.K. Govil, On the maximum modulus of polynomials not vanishing inside the unit circle, Approx. Theory Appl. 5 (1989), 79–82.
- [8] N.K. Govil, Some inequalities for derivatives of polynomials, J. Approx. Theory 66 (1991), 29–35.
- [9] N.K. Govil and G. Nyuydinkong, On the maximum modulus of polynomials not vanishing inside a circle, J. Interdiscip. Math. 4 (2001), 93–100.
- [10] I. Hussain, Growth estimates of a polynomial not vanishing in a disk, Indian J. Pure Appl. Math. 53 (2021), 750–759.
- [11] A. Mir, A. Ahmad and A.H. Malik, Growth of a polynomial with restricted zeros, J. Anal. 28 (2020), 827–837.
- [12] G. Pólya and G. Szegö, Aufgaben and Leheatze ous der Analysis, Springer-Verlag, Berlin, 1925.